Qo 2Part() 202 ~4) = A4

a_Standarxd form (an® +bw + ¢ = 0)

1 Syt -4x-—4 =0

33* - 4% -7 -0l

b. VNalbe of a.b.,c

512*%4)(.-.1 =0

Qy® by + er=0) .

=> la=3 ==4 i

b. Soluton

5')(2-4-1"—‘ =O

By using guadyatic foxmula :

L= =b*Abldac
2a
% = —(=4) T A -4(3)(-1)
2(3)
H = 4 TA 100
6
x = 4210
6
Either 'K-=_4+JQ_ oY ez &by
. 6
x = |4 oY x = -6
6 G

]

Aelictian Set e sl < |
= i




Q. No. 2 Part (i ) 4.4+ 4 =10

"41

Let 4™ =y
o

4.9+ 4 =10
=3 :

Y

MULHP\};ing l'lj’ with each term:

y (4w + [ 4\ A = 10 ()
ST i

4% + 4 = IOI'bl

|l

J4-1‘ﬁ—|03|+4 o)
ay®tbu+ C =0 (slandard {ovm)

=> o0:=4 .b=-10, c=4

Mﬁj quadvatic formula:

U= -bi]Jb’_4ac
3 >a
U= ~(=10) T AH0)*-4(4)(4).
X 2 (4)
v = 10+6
# g
Eithex  u = 1046 oY Yy = 10-6
= 8 % 8
"j = 2 oY 73! = ;
PUqu vaJue Q]r (E‘-
& =2 oY 4 - |
2
211&. 5 2! oY 2‘11 o 2—1
g.

£
]
"I_
4
=
V|-




Q.No. 2 Part(ifj) 32> ~4x +6 =0

ax* +bu +¢ = 0 (stondard form)

::'> a = 3 - 2"'4- ,C:6
Q. %+ B .E, % B
Nk Bom =b B =.C
= a — 7
£ if=4] LR = B
3 i) F4
Nt e = -4 4
= 3 ]
el L oy |
ot B2
Lo e sl Sl il
OGI ng %zﬁz
w w4 P? = (wtB)? -2 B
| 4+ ] = («+P) -2(xp)
%° 2 (% £)?
= (432 -2(2)
(2)
- (16/a) - 4
4
2 jl6 e Al E 4
Lo
=0 x |
QAr A




.No. 2 Pa hat( - Sb+gd
Q. No. 2 Part (v ) e
L\?t _Q.= £ :k,
b- g
fe o=k = la = blel
b
C-k =i =
d
5a +C o bl
Sa=e 5b-d
Sbk)4(dk) = 5b+d
5 (bk) = (d k) 56 -4

Shlk+dk = Sb+4d

5 bk - dk 56 -d

_lg(w
k (5b=4d)
X —
lk/
Taid
L-H.S = R.-H-$

Sd~C Sb -4




Q. No. 2 Part (V1)

1.4 E and ] o |

| | R
K
o
R _
Lt 52.a.m?e_re. E- 128 volts . R = Q80 ohm¢
32 = ke x 128
80
k, = 32)(@_
128
T
I = 2OKE
R

I =?when E :-150 volis

ond R =180 phms

] -20x E
R
I = 20 »x\50
180
I = S0
3
1667
Cuyyent

ia 16:67 A when emfis 50V
A and vesistmoce is 180 _n.




Q. No. 2 Part (vii ) let Ascumed Mean (A\ £

Ages (c8) | frequency MidPoirﬂ(X)ID-:x—A D
i= 16 12 5.5 -19.5 - 234
Il -20 & 155 -85 -16
21-320 13 255 05 65
3\ -40 \1 35.5 105 1785
2§ =50 2{D=-125
X = A+ 2{D
21
X =(25) + (-125)
(80)
¥ o254 (-5

AR

Aithmetis ‘mean  of givem dota ic 22 .5
-e. avevwge oge is 22.5 yeavg .




Q. No. 2 Part (1%)

“GIVEN: el
mOC = 25 (pait) A Ui tﬁi-@\_
0B = 5 (uat) RS
TO_FIND: o0 Lok
mAR = L //

_SOLUTION: SR _g'

In Lyt ADBC.

By Pv %m&cﬁas ‘theorem:

(H\n)) (Base)* + (Peap)*

108> = |oc)* + |Acl?
(52 - (2.5)+ l)d

2t =B L5

w: = 4805

_EJLU'(W@ Square Yool on both cides:
[x2 =Al8.715
p A 4‘-53bni't,

m-P-\_B- = W\EE +m€€

@ Perpendiclar from centre of civcde on a chovd bisects it.

MmAC = mBC = 4.233cm

| AR = ‘33)'+4-33>
AB = Q. nH']

RESDLT:

I_eng"r‘f\ of chovd AR s 8-66 _-__.I\UOH,)-




Q.No.ZPart(xi)({Oﬁg"' wo10) +an =sec’6 .

L-W-G:

= (1an@+ cotB) tand

tan?B + +onB.ot 6

[{]

tan 0= 38 => tn6. t6-1

= bon*@ '+ 4

tan’Q + 1 =sec’® (idenhdy)

= gec’B

R-H.&:

= ¢ec?B

L-H-& = R-H.S

(1on0 +otB) tan® = cec?B




Q. No. 2 Part (xii)

STQTE.MEN'T :

1T +anae,n'\'s dmwn +o a civdle ‘Frorn a DomJ(
outcide it |, ave eﬁygaj

EIGURE : "
b
e
e — — = Fo Tt
\ ! I{/
e
B \
_GIVEN:

Usmq o cvrde wh centre O point P Lies outtide
r\: and two Tarmgeats
o e cirde

PA and PB oaYe dyawn

yomn P
TO PROVE:
PA-PB
_CONSTRUCTION! :
Join O to A, B and P.
PROOF :
Staterments Reasons
In A OAP > LAOBP (Constyuction)
Lo - mLOsF e T
m_da = mCTé Rﬁ;i of same cude
("‘IP\M_&; = mOP U“YP) Common
. AOAP = AORP H.-& postulate
PA - PB i e




Q. No. 4 (Page 1/2)

_GIVEN:
P l et AR =%
\ ‘ Let m_'b_a"'u
2ol \\(45, .
(IOO ™) = \ &
JETEER R
] 3"?\2"7\
& Y B—x— A
]—’eigh't o? owey = mCD - = 100 m
_Angle of elevation fox ‘man A = 20°
Angle of elevation for mar B = 30°
TO FIND:
Distance blw omon A ond B = mAB = 7
_SOLUTION:
T INBCD:
tan O = peap
base
tan (500} - ,CD
BC
A3 = |00
5 5

Cxoss mulh P\ic,aﬁor\

/\I—B"tj = 2x 100

A .= (300~

g’ S 413905 m




(Page 2/2)

In NACD:

ton O = perp

base

tan (20°):= _CD

N

0-36239]7= 100

'X+]j

x+'}4} =100
0-36397

w + 172.005 = 274748

. = (204 48— {|713-205)

RESULT:

The +two men (A and B) are

101-5 <r . otakt.




Q. No. & (Page 1/2)

STATEMENT:

"If dwo chovds of a civcle ave Lonewen'lz,
-vae_\fi will be idictan Ye

" |QURE.:

GINEN:

In a civle with Céh‘he O,AB ond CD are

twe chovdse cuch that AR 2¢D (mAR = m (D)

Fyomm the centre O7 (_)_l:*_\ AB and (-DTC LD

TO_PI?OVE.-

nOH =

‘CONSTRUCTTON:

Join O 40 A aod C o 'FDtm huo \'uaH’.

triangles: AOUHA and A OKC




(Page 2/2)

PROCE .

‘S+a+emen+s Qe,QSOn S
e m i _-L i AB @ OH 1 AB (Pé)\p Srom certye of
- Civcle on .a._ekoxd_b&&ds_l.t)_
2
m Z’Z . ‘2 @ ZSEJ;L E:- £mprr o[:sc:.:"tsbcl{*)
AB = CD O Given
AR m - @ From @*@ & @

In AQHA «— OKC

mLOHA=: mLOKC = C!O

)

mLOHA = mz:_O—_KC [L.. ne seqment om centre of cirde
(hvo\ m (')A = m_(_)_C “’ND) Radii of same civele
mBAH = mCK Alveady proved in ()
AOHA = AOKC H-S postulate
Hence

mOH = rmOK

CoYves onél”ﬂ sides O\'
eauaﬂ la.nqﬁtus




Q. No.D (Page 1/2)

U-Elva,. 10}

Jn%5WQ)

{2468101

(AuBY = A'n B
L-H.S:

=(A uB)’

Biret we find (AuB) .

Aub = {1,357, 9% w2, 4,6,8,10)

AUB - £|734§516q Lo}

Now we fnd (A UR)

(Aumr)’ = U- (AuE>\
$01.2.3.-.,10p-£1.2,3 ...,10)

1

(AupY - L{}

RH-S.

< A'nB’

Fireld we find A’:

A' - U-A

= $1,0.3, ... 100-41,3,5,1.9%

A 424eeiol

then Vue -Gﬁd B
B = U-B
: 1,02 .., 10} - {24 6,80}

B"z J\ _%51 cﬂ

Now we, Qnd A'nB'

Nab' - 7468:0?&15514}

ANobB ={J

ofn 1o MBS Rl -5




(Page 2/2)

(Anb\' z A'LB'
L-H.5:

& (\An[ﬁ)\}

Bret we -F;hd Anb:

AnB = ﬁf\ 2.5,08n40 4.6 .8 10}

AnD f}

B i %nd (Anby

(AaB) = U-(AoB)

2\13 oY - {}
(AAB\ {\23 ...,)D}

R-H-S:

=A’UE))

Eivel we £ind A':

A" = U-A

n M

7468107?

U-
F1.905 o inl et e
%
L

—mé’f‘\ we Gnd B’

B =U-B

2 AR PR o

I

L{\56'} )

NOtu we. 'ﬁ'lr\ci A B,

Nub'=£82,46,8, |o}u£1 25,7493

Ml s T3 0%

“e LG s BB -G

De Mo*raanq law

S aoye \IP/’U'FIP
(AuB) = A'n B’
(AaB) =N gp
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